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Solve Any Five Sub Questions

1.In the following figure, seg AB | seg BC, seg DC L seg BC.

A(AABC)

If AB =2 and DC = 3, find ————— 2.
" " A(ADCB)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HmQhghDno5T0
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o Watch Video Solution
2.Find the slope and y-intercept of the liney = — 2z + 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_HmQhghDno5T0
https://dl.doubtnut.com/l/_Bm0ZgYUxT3lJ

3. In the following figure, in

AABC,BC =1, AC = 2, /B = 90° .. Find the value of sin .

C

° Watch Video Solution

4. Find the diagonal of a square whose side is 10 cm.

o Watch Video Solution

5. The volume of a cube is 1000cm?. Find the side of a cube.

| ° “AF_ oL _L vl .~ 1.


https://dl.doubtnut.com/l/_HjKE5oYTWyc1
https://dl.doubtnut.com/l/_70VBqCkedwjB
https://dl.doubtnut.com/l/_WxdqXERo9zfQ
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6. If two circles with radii 5 cm and 3 cm respectively touch

internally, find the distance between their centres.

o Watch Video Solution

7. ADEF-AMNK. If DE = 2, MN =5, then find the value
. A(ADEF)
o

A(AMNK)

° Watch Video Solution

8. In the following figure, in

AABC, /B = 90°, /C = 60°, ZA = 30°, AC = 16cm. Find


https://dl.doubtnut.com/l/_WxdqXERo9zfQ
https://dl.doubtnut.com/l/_TjEzPC7q0oeF
https://dl.doubtnut.com/l/_1anU8szWvIEd
https://dl.doubtnut.com/l/_uzIgAhOvFxb3

BC.

A. 32cm

B. 24cm

C.16em

D. 8&m



https://dl.doubtnut.com/l/_uzIgAhOvFxb3

Answer: D

° Watch Video Solution

9. In the following figure, m(arc PMQ) = 110°, find ZPQ@S5.

° Watch Video Solution



https://dl.doubtnut.com/l/_uzIgAhOvFxb3
https://dl.doubtnut.com/l/_XOfhZbDIl3r1
https://dl.doubtnut.com/l/_jmgpBamNhcrK

10.1f the angle # = — 30°, find the value of cos 6.

o Watch Video Solution

11. Find the slope of the line with inclination 60°.

o Watch Video Solution

12. Using Euler’s formula, find Vif E=10, F = 6.

o Watch Video Solution

Solve Any Four Sub Questions

5
1.If sinf = 13 where 0 is an acute angle, find the value of cos 6.

| o


https://dl.doubtnut.com/l/_jmgpBamNhcrK
https://dl.doubtnut.com/l/_ciUVCtdIXN78
https://dl.doubtnut.com/l/_bE2Tn0CifUnp
https://dl.doubtnut.com/l/_QdIuu59yXh1i

[ W Watch Video Solution ]

2.Draw ZABC = 115°, construct its bisector

° Watch Video Solution

3. Find the slope of the line passing through the points

C(3,5) and D( — 2, — 3).

o Watch Video Solution

4.Find the area of the sector whose arc length and radius are 10

cm and 5 cm respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_QdIuu59yXh1i
https://dl.doubtnut.com/l/_LmtxyTuTOaGu
https://dl.doubtnut.com/l/_mU7zIUMer3Hq
https://dl.doubtnut.com/l/_JjhbTfRKYXjW
https://dl.doubtnut.com/l/_MsUC7ZjYEeqJ

5. In the following figure, in APQR, seg RS is the bisector of
ZPQR, PS = 6,5Q =8, PR = 15.

Find QR.

° Watch Video Solution

6. In the following figure, if m(arc DXE) = 100° and m(arc AYC)

= 40°,find Z/DBE.


https://dl.doubtnut.com/l/_MsUC7ZjYEeqJ
https://dl.doubtnut.com/l/_cgzhqs5VqqR0

o Watch Video Solution

7. In the following figure, in APRQ), seg RS is the bisector of

/PRQ.IfPS =9,5Q = 6, PR = 18, find OR.


https://dl.doubtnut.com/l/_cgzhqs5VqqR0
https://dl.doubtnut.com/l/_oISz0y9wMcqs

° Watch Video Solution

8.In the following figure, a tangent segment PA touching a circle

in A and a secant PBC are shown. If AP =12, BP =9, find BC.


https://dl.doubtnut.com/l/_oISz0y9wMcqs
https://dl.doubtnut.com/l/_PH1J3RUC2YUy

A

° Watch Video Solution

9. For the angle in standard position if the initial arm rotates
130° in anticlockwise direction, then state the quadrant in

which terminal arm lies. (Draw the Figure and write the answer.)

° Watch Video Solution



https://dl.doubtnut.com/l/_PH1J3RUC2YUy
https://dl.doubtnut.com/l/_JLnejScd5b7P

10. Find the area of sector whose arc length and radius are 16 cm

and 9 cm respectively.

° Watch Video Solution

11. Find the surface area of a sphere of radius 1.4 cm. (71' — —>

o Watch Video Solution

Solve Any Three Sub Questions

1. In the figrure, Q is the centre of the circle and PM and PN are

tangent segments to the circle. If /M PN = 40°, find ZMQN


https://dl.doubtnut.com/l/_FhkP1gHhIxF3
https://dl.doubtnut.com/l/_N7qKpLwe97gi
https://dl.doubtnut.com/l/_BO1f4LbkqK9u

° Watch Video Solution

2. The ratio of the areas of two triangles with common base is
4:3. Height of the larger triangle is 6 cm, then find the

corresponding height of the smaller triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_BO1f4LbkqK9u
https://dl.doubtnut.com/l/_jAT2DT1sEhWk

3. Two buildings are in front of each other on either side of a
road of width 10 metres. From the top of the first building which
is 30 metres high, the angle of elevation to the top of the

second is 45°. What is the height of the second building?

° Watch Video Solution

4. Find the volume and surface area of a sphere of radius 4.2 cm.

--3)

° Watch Video Solution

5. Adjacent sides of a parallelogram are 11 cm and 17 cm. If the
length of one of its diagonal is 26 cm, find the length of the

other.

| |


https://dl.doubtnut.com/l/_cQBQjo0uJqNG
https://dl.doubtnut.com/l/_ay0ODAws48Ca
https://dl.doubtnut.com/l/_XkXpOtiZ0EKD

[ W Watch Video Solution ]

2 1 — cosec «
6. If seca = —, the find the value of , Where a
V3 1+ cosec o

is in IV quadrant.

° Watch Video Solution

7. Write the equation of the line passing through the pair of

points (2, 3) and (4, 7) in the form of y = mz + c.

o Watch Video Solution

Solve Any Two Sub Questions

1. The sum of either pair of opposite angles of a cyclic

quadrilateral is 180° OR The opposite angles of a cyclic


https://dl.doubtnut.com/l/_XkXpOtiZ0EKD
https://dl.doubtnut.com/l/_BWPrwTNNY7aU
https://dl.doubtnut.com/l/_F5jOtMCNniWD
https://dl.doubtnut.com/l/_rgAP76K7pbFL

quadrilateral are supplementary.

° Watch Video Solution

2. Prove that sin® 6 + cos® 6 = 1 — 3sin? 0. cos? 6.

° Watch Video Solution

3. A test tube has diameter 20 mm and height is 15 cm. The lower
part is a hemisphere. Find the capacity of the test tube.

(m = 3.14)

° Watch Video Solution

4. Prove the following statement. "The bisector of an angle of a

triangle divides the sides opposite to the angle in the ratio of


https://dl.doubtnut.com/l/_rgAP76K7pbFL
https://dl.doubtnut.com/l/_NPSXdxromWrZ
https://dl.doubtnut.com/l/_Py7adCCysoY2
https://dl.doubtnut.com/l/_Tc62nXIAucJF

the remaining sides"

° Watch Video Solution

5. Write down the equation of a line whose slope is 3 and which
passes through point P, where P divides the line segment AB

joiningA( — 2,6) and B(3, — 4)in the ratio 2: 3.

° Watch Video Solution

6. Theorem: The length of two tangents drawn from an external

point to a circle are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_Tc62nXIAucJF
https://dl.doubtnut.com/l/_ZdM6l7a5wyET
https://dl.doubtnut.com/l/_cUI7C46pVyQn

7. A person standing on the bank of a river observes that the
angle of elevation of the top of a tree standing on the opposite
bank is 60°. When he moves 40 m away from the bank, he finds
the angle of elevation to be 30°. Find the height of the tree and

width of the river. (/3 = 1.73)

° Watch Video Solution

8. A(5,4),B(—3,—-2) and C(1,—8) are the vertices of a
triangle ABC. Find the equations of median AD and line parallel

to AC passing through the point B.

° Watch Video Solution



https://dl.doubtnut.com/l/_wMbOJRMo5Jxb
https://dl.doubtnut.com/l/_qiHF5fJVTCgf

0. In the following figure,
AE = FEF = AF = BE=CF = a,AT |1 BC. Show that

AB=AC=,3xa

° Watch Video Solution

10. ASHR-~ASVU. In

SH
ASHR,SH = 4.5¢cm, HR = 5.2cm, SR = 5.8cm and v =
construct ASVU.

° Watch Video Solution



https://dl.doubtnut.com/l/_V7irxnzizA9t
https://dl.doubtnut.com/l/_DuuZeDCyb924

11. Water flows at the rate of 15m per minute through a
cylindrical pipe, having the diameter 20 mm. How much time will
it take to fill a conical vessel of base diameter 40 cm and depth

45 cm?

° Watch Video Solution



https://dl.doubtnut.com/l/_2SdeUTFQBoO6

